Institute Name

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

Academic Year 2019-20

State

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Sanction Date:

Application ID Student Name							Sanction	n Date: 10/0	2/2020	
1563915 MANISHA JAISWAL	Gend		Туре	No. of Month	Rate N	Maintenence T	Applications	772		
1390598 GAYATRI VARMA	Female	- MANGIT	Renewal	Month 8		Allowance	ition Fee	Other Fee	Total Fee	Total Amou
1438165 RAJMATI VERMA	Female	B. A./Arts/III	Renewal		85	680	0	1273	1222	
1551013 TINU CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	1
1325225 SHIVRANI JAISWAL	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2
1567449 POOJA MALLAH	Female	B. A./Arts/III	Renewal	9	85	765	0		1273	20
1642974 ANUPA SAHU	Female	B. A./Arts/II		8	85	. 680	0	1273	1273	20
	Female	B. Sc./Botany/II	Renewal	9	85	765	0	1273	1273	19
1359958 VIJETA patel	Female	B. Sc./Computer Science/III	Renewal	9	85	765	0	1273	1273	20
1548316 KALYANEE SAHU	Female	B. Sc./Computer Science/II		9	85	765	0	1303	1303	20
1596099 MANISHA TANDIYA	Female	B. Sc./Computer Science/II		8	85	680		1303	1303	206
1572738 SUMAN VERMA	Female	B. Sc./Computer Science/II	Renewal	9	85	765	0	1303	1303	198
1439881 ASMIN DEWANGAN	Female		Renewal	9	85	765	0	1303	1303	206
1650220 SANDHYA NISHAD	Female	B. Sc./Computer Science/III	Renewal	9	85	765	0	1303	1303	206
1360812 SHARDDHA CHANDRAVANSHI	Female	B. Sc./Maths/II	Renewal	9	85	765	0	1303	1303	2068
1683477 NANDANI CHANDRAKAR	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
	. cmale	B. Sc. (Hons.)/Mathematics/III	Renewal	9	85		0	1303	1303	2068
1704753 SUBHADRA CHANDRAVANSHI	Female	R Sc (Hone Visial	Panaual			765	0	1303	1303	2068
1642982 CHAMPA PATEL	Female	R Sc (Hone)/7	Renewal	9	85	765	0	1303		
ation :		,,,,	Renewal	9	85	765	0		1303	2068
ed that students studying in this institution								1303	1303	2068

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Date:

(Signature & Seal BATTA PAL Institution) Narced Papiral Market: Girls College

Tawardha, Distr.-Kabirdham (C.a.



Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Sanction Date:

10/02/2020

Academic Year : 2019-20							Sanctio	n Date : 10/0	2/2020	
plication ID Student Name	Gende	Course	Туре	No. of	Rate	Maintenence	Application	s Type : Ren		
1642886 CHAMELI PATEL	Female	B Sc (Hope)/Zeele - IIII		Month		Allowance	Tuition Fee	Other Fee	Total Fee	Total Amour
1550389 JIGYASA CHANDRAVANSHI	Female	B. Sc. (Hons.)/Zoology/III	Renewal	9	85	765	0	1303	1303	20
941891 Mona Sahu	Female	B. Sc./Computer Science/II	Renewal	9	85	765	0	1303		20
1600033 PURNIMA YADAV		B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	20
1540623 PINKI NISHAD	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	20
1693180 RUKHMADI SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0		1303	20
1688031 CHANDNI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680		1303	1303	20
	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	198
1604875 SWATT YOGI	Female	B. Sc./Science/II	Renewal	9	85		0	1303	1303	20
1497633 TULESH PATEL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	206
1437436 PUNIYA SAHU	Female	B. Sc./Science/III	Renewal	9		765	0	1303	1303	206
1435272 KAUSHILYA CHANDRAKAR	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	206
1588802 NIDHI CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal		85	765	0	1303	1303	206
1545938 NEHA VERMA	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1692697 PRATIBHA SAHU	Female	B. Sc./Science/III		9	85	765	0	1303	1303	2068
1414170 ROSHANI SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1648267 KHUSHBU VAISHNAV	Female	B. Co. (Color: 1999)	Renewal	9	85	765	0	1303	1303	2068
1536241 ANSHU CHANDRAVANSHI		D. C. 15.	Renewal	9	85	765	0	1303	1303	2068
1584537 NISHA VERMA			Renewal	9	85	765	0	1303	1303	
ion :	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Sea Prince Ale Institution) Named Capin ! Vertical: Girls College Kawardha, Distr-Kahirdham (C. ..

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State Government of Chhattisgarh

Sanction Number R/9/2411/3/10/95656

Sanction Date 10/02/2020

Academic Year 2019-20							Sancuc	on Date: 10/	02/2020	
Student Name	Gender	Course	Туре	No. of	Rate	TVI CONTRACTOR OF THE PARTY OF	Application	s Type Ren	ewal	
1547272 PRIYANKA CHANDRAVANSH	I Female	B. Sc. (Science (III	ELECTION OF THE PERSON OF THE	Month	Kate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
1567929 ANUSUIYA SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	20
1509743 PINKI CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	
1657267 AARTI VERMA	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	
1584259 NEHA VERMA	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303		206
1507267 PRATIMA SAHU		B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	206
1424161 JYOTI CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	206
1554756 ANJALI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1698384 SHWETA YOGI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1578316 PRAGATI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1585168 GANGA SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
	Female	B. Sc./Science/II	Renewal	9	85	765	0		1303	2068
1521854 DIPTI KUMBHKAR	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1575679 SHVETA VERMA	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1509451 AARTI DEWANGAN	Female	B. Sc./Science/II	Renewal	9	85	765		1303	1303	2068
1364850 DURGESHVARI SHRIVAS	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1510053 VARSHA CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1668721 PRITI CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	9	85		0	1303	1303	2068
1519173 NEHA PATLE	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
ation :					03	765	0	1303	1303	2068

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & Seal opposition) Cawardhe Distr-Kabirdhem (C. ..



Government of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Academic Year : 2019-2	0						Sanctio	n Date 10/	02/2020	
HELDING THE PARTY OF THE PARTY	Gende	er Course	Туре	No. of	Rate	Maintenence	Application	s Type : Ren	newal	
1587706 ANJU CHANDRAVANSHI	Female	B. Sc./Science/II	Danauert	Month		Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
1682792 RASHMI SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	20
1228508 HEMLATA CHHURE	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	20
1407157 KOVISHA CHANDRAKAR	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	20
1670918 RAJESHWARI VERMA	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303		206
1545882 RAJKUMARI SEN	Female		Renewal	8	85	680	0	1303	1303	206
1389059 PRATIMA CHANDRAVANSHI		B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	198
1669678 POOJA CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	9	85	765	0		1303	206
1375462 KIRAN PATEL		B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1563802 JYOTI KAUSHIK	Female	B. Sc./Science/III	Renewal	8	85	680		1303	1303	2068
1491184 KHEMIN JAISWAL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	1983
1486189 MANJU SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
	Female	B. Sc./Science/III	Renewal	9	85		0	1303	1303	2068
1535860 LAKSHMI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1582109 AHILYA SAHU	Female	B. Sc./Science/II	Renewal	9		765	0	1303	1303	2068
1560217 ANJANI JAISWAL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1623363 KIRTI SINHA	Female	B. Sc./Science/II	Renewal		85	765	0	1303	1303	2068
556507 NEHA NISHAD	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1525757 LOKESHWARI NIRMALKAR		B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
on:			Reflewal	9	85	765	0	1303	1303	2068

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian, from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & Seal BRINGEPAL Institution) Nan@何時間,她們感: Girls College

Rawardha, Disti.-Kabirdham (C.C.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh

Sanction Number R/9/2411/3/10/95656

Sanction Date 10/02/2020

ication ID Student Name	Gender	Course	Туре	No. of	0		Applications	Type: Ren	ewal	
1582842 DIVYA VARMA	Female			Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amour
1640197 CHANCHAL MANIKPURI	Female	B. Sc./Science/II	Renewal	8	85		0	1200		
1662218 SWETA CHANDRAVANSHI	-	B. Sc./Science/II	Renewal	9	85	765		1303	1303	198
1343566 LAXMI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	206
895779 KENVRA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	206
1349592 SAVITA SAHU	Female	B. Sc./Science/III	Renewal	9	85		0	1303	1303	206
	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1518527 ANSHU MANIKPURI	Female	B. Sc./Science/II	Renewal	8	85	765	0	1303	1303	2068
1535358 KALYANI SAHU	Female	B. Sc./Science/II	Renewal	9		680	0	1303	1303	1983
1503899 INDU SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
496820 DIKSHA SAHU	Female	B. Sc./Science/III	Renewal		85	765	0	1303	1303	2068
658144 GUNESHVARI YOGI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
657444 POOJA PATEL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1392119 SONIYA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1364075 AARTI CHANDRAVANSHI	Female	B. Sc./Science/III		9	85	765	0	1303	1303	2068
564919 KARUNA KASHYAP	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
663659 MADHU CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1510906 NEMA BAI	Female		Renewal	. 9	85	765	0	1303	1303	2068
373797 KUSUM CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	
on :	remale	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068 2068

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected/

Place: Date :

(Signature & Seal of Control of Stitution) Girls College

Cawardha, Disto-Kabirdham (C.A.

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

> Category OBC

Institute Name : G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Academic Year 2010 20



State

Government of Chhattisgarh

Sanction Number:

R/9/2411/3/10/95656

Sanction Date:

10/02/2020

lication ID Student Name	Gender	Course	Туре	No. of	Data		Applications	Type: Ren	ewal	
1370505 SADHANA CHANDRAVANSHI	Female	P. Co. /Co.	HI HE	Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
1602929 LAXMI CHANDRAVANSHI		B. Sc./Science/III	Renewal	9	85	765	0	1202		
1553139 SUNITA OO	Female	B. Sc./Science/II	Renewal	9	85	765		1303	1303	206
1638771 SANDHYA SAHU	Female	B. Sc./Science/III	Renewal	9	85		0	1303	1303	206
	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	206
1567979 MAHESHWARI KAUSHIK	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	206
1645648 SHIKHA PALI	Female	B. Sc./Science/II	Renewal	9		765	0	1303	1303	2068
1509307 NAMESHWARI SAHU	Female	B. Sc./Science/II	Renewal		85	765	0	1303	1303	2068
1643493 ROSHNI CHANDRAVANSHI	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1556640 LAXMIN JAISWAL	Female	B. Sc./Science/II		9	85	765	0	1303	1303	2068
1564589 AASTHA CHANDRAVANSHI	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1361016 NANDNI NISHAD	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1556343 PUSHPA SAHU	Female		Renewal	9	85	765	0	1303	1303	2068
1381019 JYOTI KUMBHKAR	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1486361 MANJOO PATEL		B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	
1576277 PRIYANKA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303		2068
1528127 RITU SAHU	Female	B. Sc./Science/II	Renewal	9	85	765	0		1303	1983
1545484 YASHOMATI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765		1303	1303	2068
1568115 ANJANI KAUSHIK	Female	B. Sc./Science/II	Renewal	9	85		0	1303	1303	2068
tion :					03	765	0	1303	1303	2068

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Sea Institution) Name Gapital Veters Girls College rr-Kabirdham (C.

Government of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Sanction Date: 10/02/2020

Academic Year: 2019-20)						Caricac	n Date: 10/	02/2020	
olication ID Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Application	s Type : Ren	ewal	
1567564 MAMTA KAUSHIK	Female	B. Sc./Science/II		Month		Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1395828 BHUNESHWARI SAHU	Female		Renewal	9	85	765	0	1303	1303	2066
1577196 DIVYA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	1303	1303	2068
1538826 HIMANSHI PRAJAPATI	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1517156 TULSI CHANDRAVANSHI		B. Sc./Science/II	Renewal	9	85	765	0	1303		2068
1585339 VIDYA JAISAWAL	Female	B. Sc./Science/II	Renewal	9	85	765	0	1303	1303	2068
1577271 ANJU SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1303	1303	2068
1371844 NEELAM SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0		1303	1983
	Female	B. Sc./Science/III	Renewal	8	85	680	0	1303	1303	1983
1469389 SAKSHI NAMDEV	Female	B. Com./Commerce/II	Renewal	9	85	765		1303	1303	1983
1567792 MADHU KAUSHIK	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1273	2038
1639835 DURGA KAUSHIK	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1273	2038
1539697 TULSI SAHU	Female	B. Sc./Science/II	Renewal	9	85		0	1273	1273	2038
1578122 KIRTI SAHU	Female	B. Sc./Science/II	Renewal	8	85	765	0	1303	1303	2068
1577799 GITANJALI SAHU	Female	B. Sc./Science/II	Renewal	9	85	680	0	1303	1303	1983
1609556 KIRAN SAHU	Female	B. Com./Commerce/III	Renewal	9		765	0	1303	1303	2068
1578948 DEEPANJALI	Female	B. Com./Commerce/II	Renewal	9	85	765	0	1273	1273	2038
CHANDRAVANSAHI		-	Renewal	9	85	765	0	1273	1273	2038
1582340 VIBHA JAISAWAL	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1273	1373	
ation :							· ·	12/3	1273	1953

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

ardha Distr.-Kabirdham (C. ..



Government of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

OBC

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State (

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Sanction Date

10/02/2020

plication ID	Student Name	Gender	Course					Application	s Type : Ren	ewal	
4540500			Course	Туре	No. of Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Amoun
	CHANDRAVANSHI	Female	B. Com./Commerce/II	Renewal	9	85		0	1273	1272	
1329934 MAN)		Female	B. Com./Commerce/III	Renewal	9	85	765	0		1273	203
	SHA CHANDRAKAR	Female	B. Com./Commerce/III	Renewal	9	85	765	-	1273	1273	203
1530458 KAVIT	A CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	203
1546921 KIRTI	CHANDRAVANSHI	Female	B. Com./Commerce/II	Renewal	9	85		0	1273	1273	2038
1399180 LAKSH	WANTIN YADAV	Female	B. Com./Commerce/III	Renewal	9	85	765	0	1273	1273	2038
1293309 LATA	CHANDRAVANSHI	Female	B. Com./Commerce/III	Renewal	9	85	765	0	1273	1273	2038
1580855 DIVYA	CHANDRAVANSHI	Female	B. Com./Commerce/II	Renewal	9		765	0	1273	1273	2038
1360601 PUSHP	A KAUSHIK	Female	B. Com./Commerce/III	Renewal	9	85	765	0	1273	1273	2038
1580415 LATA S	SAHU	Female	B. A./Arts/II	Renewal		85	765	0	1273	1273	2038
1682789 RUKHM	ANI YADU	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1588111 LATA P	ATEL	Female	B. A./Arts/II		9	85	765	0	1273	1273	2038
1500782 TARUN	KUMART	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1673489 TAMESH	_			Renewal	8	85	680	0	1273	1273	1953
1682202 USHA Y		Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
	CHANDRAWANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
			B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1679429 PREETI			B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1585938 SEEMA	/OGI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038

Declaration:

Place : Date : (Signature & Seal di Relation the Institution)
Name (Switzen Man) S. Girls College
Kawardha, Distr.-Kabirdham (C.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State Government of Chhattisgarh

Sanction Number R/9/2411/3/10/95656

Sanction Date 10/02/2020

Academic Year 2019-20 Plication ID Student Name	Gender						Applications			
是一种 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1343856 PRIYA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	8	85			11/20		
1676045 PINKI YADAV	Female	B. A./Arts/II	Renewal	8	-	680	0	1273	1273	195
1579719 GYAN BAI SAHU	Female	B. A./Arts/II	Renewal		85	680	0	1273	1273	195
1624353 BHARTT JAISWAL	Female	B. A./Arts/II		8	85	680	0	1273	1273	1953
1345081 MENKA CHANDRAKAR	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038
1335684 RAJRANI PATEL	Female		Renewal	9	85	765	0	1273	1273	2038
1563950 SUNDARI SAHU	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	
1551000 CHANCHAL VERMA		B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1725433 GAURI YADAV	Female	B. A./Arts/II	Renewal	8	85	680	0	1273		2038
1484998 JAMOTRI CHANDRAVANASHI	Female	B. A./Arts/II	Renewal	8	85	680	0		1273	1953
	Female	B. A./Arts/II	Renewal	8	85	680		1273	1273	1953
1699454 CHUMRITA YADAV	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1637389 PINKI YADAV	Female	B. A./Arts/II	Renewal	8	85		0	1273	1273	1953
1461488 CHITRAREKHA YADAV	Female	B. A./Arts/III	Renewal	8		680	0	1273	1273	1953
1638049 MADHU KAUSHIK	Female	B. A./Arts/III	Renewal		85	680	0	1273	1273	1953
1329750 VINTI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038
1561091 SHIVRANI SAHU	Female	B. A./Arts/II		9	85	765	0	1273	1273	2038
1495655 GANGA KUMARI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1509549 MANJU SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
ation:	· cc.	0. A./AIG/II	Renewal	9	85	765	0	1273	1273	2038

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date :

(Signature & Separation) NOW/E-PINIA Girls College

Kawardha, Distr.-Kabirdham (C.a.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL KAWARDHA

State Government of Chhattisgarh

Sanction Number R/9/2411/3/10/95656

Academic Year : 2019-20							Sanctio	n Date : 10/0	02/2020	
Student Name 1631909 KAVITA CHANDRAVANSHI	Gender	Course	Туре	No. of Month	Rate	Maintenence	Applications Tuition Fee	Type: Ren	ewal Total Fee	Total Amou
1361266 PRATIBHA SAHU	Female	B. A./Arts/II	Renewal	8	85	Allowance				TOTAL AMOU
	Female	B. A./Arts/III	Renewal	9		680	0	1273	1273	19
1485070 KASHISH CHANDRAVANSHI	Female	B. A./Arts/II	Renewal		85	765	0	1273	1273	20
1642125 ANJALI KUMBHKAR	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	19
1486949 MAMTA SAHU	Female	B. A./Arts/II		9	85	765	0	1273	1273	
1637241 CHANDRADEVI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	20
1343471 NEETU RAJAK	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	20
1322642 SAVITA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273		20
1498629 BHARTI CHANDRAVANSHI	Female		Renewal	9	85	765	0	1273	1273	20
1322589 HEERA KUMARI SAHU		B. A./Arts/III	Renewal	9	85	765	0		1273	20
1574151 DURGA SAHU	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	20.
1562344 KALYANI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	U	1273	1273	20:
	Female	B. A./Arts/II	Renewal	9	85		0	1273	1273	20:
1550093 DAMINI SAHU	Female	B. A./Arts/II	Renewal	8		765	0	1273	1273	203
1512805 AYUSHI CHANDRAWANSHI	Female	B. A./Arts/III	Renewal	9	85	680	0	1273	1273	195
1365518 DIVYA SAHU	Female	B. A./Arts/III	Renewal		85	765	0	1273	1273	203
1332682 NISHA CHANDRAWANSHI	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	195
1573169 SHRADDHA SAHU	Female	B. A./Arts/II		9	85	765	0	1273	1273	
1524495 VARSHA CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	203
ion :	1222		Renewal	9	85	765	0	1273	1273	195 203

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Prințed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date:

(Signature & Sea BFI (1997) The Institution) NaiGed Sto Pal Vella S. Girls College Kawardha, Distr.-Kabirdham (C.G.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

> Category OBC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Sanction Date:

10/02/2020

cation ID Student Name	Gender	Course	Туре	No. of			Applications		ewal	
1343166 TARNI CHANDRAKAR	41	1981-2831-1986		Month.	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1272	
1374059 INDRANI CHANDRAKAR	Female	B. A./Arts/III	Renewal	9	85	765			1273	20
1538998 BABLI TANDIYA	Female	B. A./Arts/II	Renewal	9	85		0	1273	1273	20
1360130 PINKI SINHA	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	20:
1400784 BHUNESHWARI SAHU	Female	B. A./Arts/III	Renewal	9		765	0	1273	1273	203
1335428 BHARATI SAHU	Female	B. A./Arts/III	Renewal		85	765	0	1273	1273	203
1485033 PURNIMA CHANDRAVNSHI	Female	B. A./Arts/II		9	85	765	0	1273	1273	203
1576975 MANISHA JAISWAL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	195
1332427 RITU SINHA	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038
1576329 KAMNI PATEL	Female		Renewal	9	85	765	0	1273	1273	2038
1515832 NANDANI CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1632055 JYOTI NIRAMALKAR		B. A./Arts/II	Renewal	9	85	765	0	1273	1273	
1632105 SUMAN VISHWAKRAMA	Female	B. A./Arts/II	Renewal	9	85	765	0	1273		2038
1349257 SEEMA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038
	Female	B. A./Arts/III	Renewal	9	85	765	0		1273	2038
1632511 SEEMA SAHU	Female	B. A./Arts/II	Renewal	9	85	765		1273	1273	2038
1662130 PARVATI SAHU	Female	B. A./Arts/III	Renewal	8	85	680	0	1273	1273	2038
1619296 ARTI VERMA	Female	B. A./Arts/II	Renewal	9	85		0	1273	1273	1953
1576090 ANNU CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	9		765	0	1273	1273	2038
tion :				3	85	765	0	1273	1273	2038

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & Seal of All Stitution) Name Gania Revin . S. Girls College

Kawardha, Distr.-Kabirdham (C.a.

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category OBC

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. **KAWARDHA**

State Government of Chhattisgarh

Sanction Number: R/9/2411/3/10/95656

Sanction Date: 10/02/2020

Student Name	Gende	Course	Туре	No. of	Rate	Mainteres	Application	s Type : Ren	ewal	
1625689 HEENA MANIKPURI	Female	D. A. Ch. a. III		Month	Kute	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amour
1515779 KAMNEE JAISWAL	-1-	B. A./Arts/II	Renewal	8	85	680	0	1272		
1510354 MAHESHWARI SAHU	Female	B. A./Arts/II	Renewal	9	85	765		1273	1273	19
1669126 NANDANI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	20.
1360065 SANGITA NIRMLAKR	Female	B. A./Arts/III	Renewal	9	85		0	1273	1273	203
1629633 SARASWATI YADAV	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	203
1559744 DIVYA PATEL	Female	B. A./Arts/II	Renewal	9		765	0	1273	1273	203
	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	203
1586475 MANTORA PATEL	Female	B. A./Arts/II	Renewal		85	765	0	1273	1273	203
1322511 SAMTA NIRMALKAR	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	203
1668929 PRIYANKA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	
1486693 PINKY CHANDRAVANSHI	Female	B. A./Arts/II		8	85	680	0	1273	1273	2038
1585473 MANJU PATEL	Female	B. A./Arts/II	Renewal	9	85	765	0	1273		1953
1663371 SANDHYA YADAV	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1531208 KAVITA PALI	Female	B. A./Arts/II	Renewal	9	85	765	0		1273	2038
1669293 SHILOCHANI CHANDRAVANSHI			Renewal	8	85	680		1273	1273	2038
1323884 KAVITA Chandravanshi	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1522638 PRITT VERMA		B. A./Arts/III	Renewal	9	85		0	1273	1273	1953
1658023 MANUL CHANDRAYANGUE	_	B. A./Arts/II	Renewal	8	85	765	0	1273	1273	2038
	Female	B. A./Arts/II	Renewal	9	85	680	0	1273	1273	1953
tion :					65	765	0	1273	1273	2038

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Date :

(Signature & Seal of Ret of the institution) Name@outafleta S. Girls College Kawardha, Distr.-Kabirdham (C.a.

Scholarship Scheme

Government of Chhattisgarh

State

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Sanction Date:

10/02/2020

Post Matric OBC Scholarship Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Academic Year 2019-20	0						Sanctio	n Date: 10/0	02/2020	
All final traine	Gende	er Course	Туре	No. of	Rate	Maintenence	Applications	s Type Ren	iewal	
1532544 LAXMI SAHU	Female	B. A./Arts/II	OHEA.	Month		Allowance	luition Fee	Other Fee	Total Fee	Total Amou
1619624 ARUNA SINHA	Female		Renewal	9	85	765	0	1270		
1343881 PRITI CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	8	85	680		1273	1273	20
1663729 MAMTA SAHU		B. A./Arts/II	Renewal	8	85	680	0	1273	1273	19
1398978 SUREKHA PATEL	Female	B. A./Arts/II	Renewal	9	85		0	1273	1273	19
1551158 SAKUN VISHWAKARMA	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	203
1534884 SANJANA YADAV	Female	B. A./Arts/II	Renewal	8		765	0	1273	1273	203
1351920 KEVARI PALI	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	195
	Female	B. A./Arts/III	Renewal	9	85	680	0	1273	1273	195
1351086 SHARDA JAISWAL	Female	B. A./Arts/III	Renewal	_	85	765	0	1273	1273	
1638243 MONIKA JAISWAL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	203
1321200 radhika sahu	Female	B. A./Arts/III		9	85	765	0	1273		195
1334372 RUKHMANI CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038
1626203 BHUNESHWARI PATEL	Female	B. A./Arts/II	Renewal	9	85	765	0		1273	2038
1657746 INDIRA NIRMALKAR	Male		Renewal	9	85	765		1273	1273	2038
1641550 KAMLESHWARI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1577971 NEELU SAHU		B. A./Arts/III	Renewal	9	85		0	1273	1273	2038
1512577 KHILESHWARI SAHU		B. A./Arts/II	Renewal	8	85	765	0	1273	1273	2038
1567300 SONIYA KUMBHAKAR	_	B. A./Arts/II	Renewal	9		680	0	1273	1273	1953
	Female	B. A./Arts/II	Renewal	Ω.	85	765	0	1273	1273	
ion :				0	85	680	0	1273	1273	2038
hat students studying in this institutio									12/3	1953

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Date :

> (Signature & Seal of Head NOTE) Name (Qpiet LRey R.S. Girls College

Kawardha, Distr.-Kabirdhem (C. ..

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

State

Government of Chhattisgarh

Sanction Number

R/9/2411/3/10/95656

Student Name 1641633 KANTI SAHU	Geno		Туре	No. of Month	Rate	Maintenence	Applications Tuition Fee	Type: Ren	ewal Total Fee	Total Asso
1576691 PREETI SHRIVAS	Female	B. A./Arts/III	Renewal	9	85	Allowance			.otar ree	Total Amoun
1327406 MANJULATA VARMA	Female	B. A./Arts/II	Renewal	8		765	0	1273	1273	20
1503989 SEVATI SAHU	Female	B. A./Arts/III	Renewal	9	85	680	0	1273	1273	19
1641876 SONIYA PALI	Female	B. A./Arts/II	Renewal		85	765	0	1273	1273	20
	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	19
1322678 AARTI SINHA	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	
1239714 SEEMA CHANDRAVASHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	20
1345850 UMA PATEL	Female	B_A./Arts/III		9	85	765	0	1273	1273	20
1345320 DULESHWARI SAHU	Female	B. A./Arts/III	Renewal	9	85	765	0	1273		20
1512570 LUKVA SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	20
1531863 RAJKUMARI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0		1273	19
1486591 HEMBAI PATEL	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	203
1327163 DURGA CHANDRAVANSHI	Female		Renewal	9	85	765		1273	1273	203
1652703 PRIYANKA SHRIVAS	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	203
1530907 MANJU CHANDRAVANSHI	-	B. A./Arts/II	Renewal	8	85		0	1273	1273	203
586764 KOSHILYA JAISWAL	Female	B. A./Arts/II	Renewal	9	85	680	0	1273	1273	195
530283 AARTI JAISWAL	Female	B. A./Arts/II	Renewal	8	85	765	0	1273	1273	203
520603 POONAM CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	9	85	680	0	1273	1273	195
	Female	B. A./Arts/II	Renewal	9		765	0	1273	1273	2038
on :				,	85	765	0	1273	1273	2038

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Date:

Institute Name

Academic Year:

1326053 AARTI DEWANGAN

1547283 TAMESHWARI PATEL

1344023 PRITI SAHU

1665492 MANJU SAHU

1670770 PINKI SAHU

1550629 OMBAI SAHU

1542309 KHEMLATA SAHU

1400138 JAGESHWARI SAHU

1532193 PURNIMA SAHU

Government of Chhattisgarh

1273

1273

1273

1273

1273

1273

1273

1273

1273

1273

340705

2038

2038

2038

2038

1953

1953

2038

2038

2038

2038

538585

Scholarship Scheme Post Matric OBC Scholarship

2019-20

Category OBC

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

Female

Female

Female

Female

Female

Female

Female

Female

Female

B. A./Arts/III

B. A./Arts/III

B. A./Arts/II

B. A./Arts/II

B. A./Arts/II

B. A./Arts/III

B. A./Arts/II

B. A./Arts/III

B. A./Arts/III

KAWARDHA

State Government of Chhattisgarh

Renewal

Sanction Number R/9/2411/3/10/95656

Sanction Date 10/02/2020

1273

1273

1273

1273

1273

1273

1273

1273

1273

1273

340705

Applications Type:

0

0

0

0

0

0

0

0

0

765

765

765

680

680

765

765

765

765

197880

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1511331	SILOCHANI JAISWAL	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1519714	LALITA CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1512555	GAYATRI SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1531046	DHANAIYA YADAV	Female	B. A./Arts/II	Renewal	9	85	765	0	1273	1273	2038
1578980	NITESHIYA PATEL	Female	B. A./Arts/II	Renewal	8	85	680	0	1273	1273	1953
1332306	PRATIBHA CHANDRAVANSHI	Female	B. A./Arts/III	Renewal	9	85	765	0	1273	1273	2038

9

9

8

8

9

9

9

9

85

85

85

85

85

85

85

85

85

Total:

Declaration:

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal of House Assistation)

inwardhe Disto-Tabirdhem (C. .

Category

Institute Name

Academic Vear

Post Matric OBC Scholarship

KAWARDHA

2010 20

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

Scholarship Scheme

Government of Chhattisgarh

Government of Chhattisgarh

Sanction Number

N/9/2411/3/10/95812

Sanction Date 10/02/2020

lication ID Student Name	Gender	Company					Application.		h	
	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1657574 LALITA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1650384 VANDANA SINHA	Female	B. A./Arts/I	Fresh	9	70	630	0	1273		
1673323 PINKY SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0		1273	1903
1674602 POOJA SAHU	Female	B. A./Arts/I	Fresh	10	70	700		1273	1273	1973
1674410 HEMA JAISWAL	Female	B. A./Arts/I	Fresh	10	70		0	1273	1273	1973
1649875 GOMTI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1650398 KUSUM SAHU	Female	B. Sc./Botany/I	Fresh	10		700	0	1273	1273	1973
1667461 PURNIMA CHANDRAKAR	Female	B. Com. (Hons.)/B.com./I	Fresh		70	700	0	1303	1303	2003
1703513 VANDANA SAHU	Female	B. Sc./Maths/I	Fresh	10	70	700	0	1273	1273	1973
1641822 VIMLESHWARI SAHU	Female	B. Sc./Botany/I		10	70	700	0	1303	1303	2003
1662642 MANISHA CHANDRAVANSHI	Female	B. Sc./Botany/I	Fresh	10	70	700	0	1303	1303	2003
1671582 BHAVANA SAHU	Female	B. Sc./Botany/I	Fresh	10	70	700	0	1303	1303	2003
1673847 BHAMINI SAHU	Female	B. Sc./Botany/I	Fresh	8	70	560	0	1303	1303	1863
1652951 PREETI SAHU			Fresh	10	70	700	0	1303	1303	2003
1620252 LAKSHA KUMARI SINHA	Female	B. Sc./Botany/I	Fresh	10	70	700	0	1303	1303	2003
1544298 AARTI CHANDRAVANSHI		B. Sc./Computer Science/I	Fresh	10	70	700	0	1303	1303	
1670055 MADHU PATEL		B. Sc./Computer Science/I	Fresh	8	70	560	0	1303		2003
TOTAL PAIEL	Female	B. Sc./Computer Science/I	Fresh	10	70	700	0		1303	1863
ion ·							-	1303	1303	2003

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected/

Place : Date :

(Signature & Seal of Person) Name Capital meters & Girls College

Kawardhe, Mehr-dahirdhem (C.S.

Category

OBC

Post Matric OBC Scholarship

Scholarship Scheme

Government of Chhattisgarh

State

Government of Chhattisgarh

Institute Name G RA	JMATA VIJYA RDHA	ARAJE SINDHIYA GIRLS COLL					Sanction N		2411/3/10/958	•
Academic Year 2019-2	- 101111						Sanctio		2/2020	
Student Name 1662028 POOJA SAHU	Gen	der Course	Туре	No. of	Rate	Maintenence	Applications Tuition Fee	Type: Fres		
1662756 KALA PALI	Female Female	o. sc./computer science/1	Fresh	Month 10	70	Allowance 700	0		Total Fee	Total Amou
1704911 KHILESHWARI SAHU	Female	5. 5c./ Hadis/1	Fresh	10	70	700	0	1303 1303	1303 1303	2
1673437 LAXMI NIRMALKAR 1692982 BHARTI SAHU	Female	B. Sc./Science/I	Fresh Fresh	10 8	70	700	0	1303	1303	20
1682634 DURGA SAHU	Female Female	B. Sc. (Hons.)/Mathematics/		10	70 70	560 700	0	1303	1303	18
1636785 RANU CHANDRAVANSHI	Female	B. Sc. (Hons.)/Mathematics/ B. Sc. (Hons.)/Biology/I	I Fresh Fresh	10	70	700	0	1303 1303	1303 1303	20
1641562 TARAMATI SAHU 1644922 SHARDA CHANDRAVANSHI	Female	B. Sc./Computer Science/I	Fresh	9 10	70 70	630	0	1303	1303	20 19
1652663 SHRADDHA VERMA	Female Female	B. Sc./Computer Science/I	Fresh	10	70	700 700	0	1303	1303	200
1657474 SANGEETA SAHU	Female	B. Sc./Science/I B. Sc./Science/I	Fresh	10	70	700	0	1303 1303	1303 1303	200
1630306 SARASWATI NISHAD 1676696 DAMINI SAHU	Female	B. Sc./Science/I	Fresh Fresh	9 10	70	630	0	1303	1303	200 193
1628479 SUMAN SAHU	Female Female	B. Sc./Science/I	Fresh	8	70 70	700 560	0	1303	1303	200
1660935 POOJA CHANDRAVANSHI	Female	R Cc /Ccionas/I	Fresh Fresh	10	70	700	0	1303 1303	1303 1303	1863
1648747 SUMAN SAHU 1652285 BHARTI SAHU	Female	R Sc /Science /Y	Fresh	9	70 70	630	0	1303	1303	2003 1933
1648960 UGESHWARI SAHU	Female Female		Fresh	10	70	630 700	0	1303	1303	1933
tion :	, cmale	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303 1303	2003 2003

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date :

(Signature & Seal of HER (Signature & Seal of Name (Capiert Letels) 18 3. Girls College

Kawardne, Phate - Labardham (C.Q.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

State Government of Chhattisgarh

Sanction Number N/9/2411/3/10/95812

. Student Name	Gende	course Course	Туре	No. of	Data	Market State of the State of th	Applications	Type: Fres	h	
1618645 JAYBHARTI JAISWAL	Female	B. Sc./Science/I		Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
1646922 ANJALI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	9	70		0			
1657865 BHUNESHWARI SAHU	Female		Fresh	9	70			1303	1303	19
1636185 PINKI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	19
1631856 BHARTI PATEL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	20
1646758 PREETI SINHA	Female	B. Sc./Science/I	Fresh	9	70		0	1303	1303	20
1642109 RAJNI KAUSHIK	Female	B. Sc./Science/I	Fresh	10	70	630	0	1303	1303	19
1637851 HEMLATA NISHAD	_	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	20
1641664 JYOTI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	20
1627930 SONIYA SAHU	Female	B. Sc./Science/I	Fresh	8	70	700	0	1303	1303	200
1642520 SEEMA. JAYSWAL	Female	B. Sc./Science/I	Fresh	9		560	0	1303	1303	186
1642430 SEEMA KAUSHIK	Female	B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	193
1638189 NEELAM SEN	Female	B. Sc./Science/I	Fresh	10	70	630	0	1303	1303	193
1628528 BHARTI SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	
1632070 MANISHA PATEL	Female	B. Sc./Science/I	Fresh		70	700	0	1303	1303	200
1683788 TANU CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	200:
	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1628758 BHAWANA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1636167 SANGITA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303		2003
ion :			. 10311	9	70	630	0	1303	1303 1303	2003

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Date:

(Signature & Seal of PHACE RAUnstitution) Name (Garit HLM (48)) GIrls College

Kawardhe, Mehralf abirdhem (C.C.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.



State Government of Chhattisgarh

Sanction Number N/9/2411/3/10/95812

Academic Year 2019-20 Student Name	Gende	er Course	Туре				Sanction Applications	_	2/2020	
1639374 SARASWATI KAUSHIK 1635759 RADHIKA SAHU	Female	B. Sc./Science/I	Fresh	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
1642035 DAMINI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70		0	1303	1202	
1625278 LALITA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303 1303	2
1727906 AMRITA SONI	Female	B. Sc./Science/I	Fresh	8	70	560	0	1303	1303	2
1616687 VANDANA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	10
1642674 SHRADDHA VERMA		B. Sc./Science/I	Fresh	9	70	630	0	1303	1303	20
1684064 PURNIMA VERMA	Female	B. Sc./Science/I	Fresh	10	70	560	0	1303	1303	19
1689840 MANBISRI PATEL	Female	B. Sc./Science/I	Fresh	9	70	700	0	1303	1303	20
1628791 PAYAL PATEL	Female	B. Sc./Science/I	Fresh	9	70 70	630	0	1303	1303	19
1491921 NEETU VAISHNAV	Female Female	B. Sc./Science/I	Fresh	10	70	630	0	1303	1303	19
1718831 SHWETA SINHA	Female	B. Sc./Science/I	Fresh	8	70	700	0	1303	1303	200
1625048 SHIVANI SAHU	Female	B. Sc./Science/I	Fresh	10	70	560	0	1303	1303	186
1646578 POOJA PATEL	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	200
1697838 PREETI CHANDRAKAR	Female	B. Sc./Science/I	Fresh	8	70	700	0	1303	1303	200
1636563 MANKUVAR YADAV	Female	B. Sc./Science/I	Fresh	10	70	560 700	0	1303	1303	186
1668369 POORNIMA CHANDRAVANSHI	Female	B. Sc./Science/I B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	200
1653345 SANGEETA VISHWAKARMA	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
ation:		o. sc./science/1	Fresh	10	70	700	0	1303	1303	2003
that students studying in this institution						700	0	1303	1303	2003

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Date :

(Signature & Seal BRANDEPAL Institution) Nangesspie 社会。GIrls College Kawardhe, Olstr.-Kabirdhem (C.G.

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category

Institute Name: G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

Government of Chhattisgarh

Sanction Number

N/9/2411/3/10/95812

Academic Year : 2019-20 Student Name	Gende	Course	(49.87				Application:	Tune 5		
1618807 BEDBAI SAHU	SE STEEL SE	· · · · · · · · · · · · · · · · · · ·	Туре	No. of Month	Rate	Maintenence	Tuition Fee	S Type : Fres Other Fee	Total Fee	Total Amoun
1649015 MANISHA SAHU	Female	B. Sc./Science/I	Fresh	9	70	Allowance	THE ST			Total Amou
1652005 JAISHRI SAHU	Female	B. Sc./Science/I	Fresh	10	70	030	0	1303	1303	19
1668762 PREETI NISHAD	Female	B. Sc./Science/I	Fresh	8	70	700	0	1303	1303	200
1667795 SANTOSHI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10		560	0	1303	1303	186
1636941 PRITI CHANDRAVANSHI		B. Sc./Science/I	Fresh	8	70	700	0	1303	1303	200
1637070 KAVITA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	560	0	1303	1303	186
1709199 PRIYANKA JOGI	Female	B. Sc./Science/I	Fresh	9	70	700	0	1303	1303	200
1653476 AISHWARYA KAUSHIK	Female	B. Sc./Science/I	Fresh	10	70	630	0	1303	1303	193
	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1723134 MAYA CHANDRAVANSHI	Female	B. Com./Commerce/I	Fresh		70	700	0	1303	1303	2003
1669504 CHITRANGANI KAUSHIK	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
1670724 LANKESHWARI PATEL	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
1647063 DOLESHWARI PATEL	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
1671986 LILESHWARI CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1273	1273	1903
1635689 RICHA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1682120 REENA YADAV	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1303	1303	2003
1617015 HEMA PATEL	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
1650910 DEEPAK SAHU	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973
tion :			.,,сэп	10	70	700	0	1273	1273	1973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date:

(Signature & Seapper Al Institution)

Name Capital Vertes: Girls College Kawardhe Distr.-Kabirdhem (C.C.

HIC

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category ORC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

Government of Chhattisgarh

Sanction Number N/9/2411/3/10/95812

Student Name	Gender	Course	Туре	No. of	Pote	7	Application	s Type : Fres	sh	
1618807 BEDBAI SAHU	Female	P. Co. (C.)		Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
1649015 MANISHA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0			
1652005 JAISHRI SAHU	Female	B. Sc./Science/I	Fresh	10	70			1303	1303	1
1668762 PREETI NISHAD		B. Sc./Science/I	Fresh	8	70		0	1303	1303	2
1667795 SANTOSHI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	560	0	1303	1303	1
1636941 PRITT CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	8	70	700	0	1303	1303	20
1637070 KAVITA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10		560	0	1303	1303	18
1709199 PRIYANKA JOGI	Female	B. Sc./Science/I	Fresh	9	70	700	0	1303	1303	20
1653476 AISHWARYA KAUSHIK	Female	B. Sc./Science/I	Fresh		70	630	0	1303	1303	19
1723134 MAYA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	20
	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1303	1303	
1669504 CHITRANGANI KAUSHIK	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	200
1670724 LANKESHWARI PATEL	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	197
1647063 DOLESHWARI PATEL	Female	B. Com./Commerce/I		9	70	630	0	1273		197
1671986 LILESHWARI CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1273	1273	190
1635689 RICHA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1273	190
1682120 REENA YADAV	_	B. Com./Commerce/I	Fresh	10	70	700	0		1303	200
1617015 HEMA DATE		B. Com./Commerce/I	Fresh	9	70	630	0	1303	1303	2003
1650910 DEEPAK SAHU	_		Fresh	10	70	700		1273	1273	1903
on:		B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date:

(Signature & Seapprinted Assistation)

Name (Pin H. V. P.C. Girls Gollege Kawardhe Olste-Kabirdhem (C. ..

Government of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

State Government of Chhattisgarh

Sanction Number: N/9/2411/3/10/95812

Student Name	Gender	Course	Туре	No. of			Application	s Type : Fre	sh	
1618807 BEDBAI SAHU	Female	D. Co. (0.)		Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
1649015 MANISHA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	1200		
1652005 JAISHRI SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	19:
1668762 PREETI NISHAD		B. Sc./Science/I	Fresh	8	70	560	0	1303	1303	200
1667795 SANTOSHI CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	186
1636941 PRITI CHANDRAVANSHI		B. Sc./Science/I	Fresh	8	70		0	1303	1303	200
1637070 KAVITA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10	70	560	0	1303	1303	186
1709199 PRIYANKA JOGI	Female	B. Sc./Science/I	Fresh	9	70	700	0	1303	1303	200
1653476 AISHWARYA KAUSHIK	Female	B. Sc./Science/I	Fresh	10	70	630	0	1303	1303	193
1723134 MAYA CHANDRAVANSHI	Female	B. Sc./Science/I	Fresh	10		700	0	1303	1303	200
1669504 CHITRANGANI KAUSHIK	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1303	1303	200
	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	197
1670724 LANKESHWARI PATEL	Female	B. Com./Commerce/I	Fresh		70	700	0	1273	1273	1973
1647063 DOLESHWARI PATEL	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	1903
1671986 LILESHWARI CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	1273	1273	1903
1635689 RICHA SAHU	Female	B. Sc./Science/I	Fresh	10	70	700	0	1303	1303	2003
1682120 REENA YADAV	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1303	1303	2003
1617015 HEMA PATEL	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	
1650910 DEEPAK SAHU	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	1903
tion:		,merce/1	riesii	10	70	700	0	1273	1273	1973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date :

(Signature & Seapproper A Institution) Name (Capital Vertice: Girls College

Kawardhe Olste-Kabirdhem (C. ..

HIC

Scholarship Scheme

Government of Chhattisgarh

Government of Chhattisgarh

OBC

Category

Post Matric OBC Scholarship

Institute Name : G. RA KAWA	JMATA VIJYA RDHA	RAJE SINDHIYA GIRLS COLI	-13				Sanction N		vernment of Ch 1/2411/3/10/958	•
Academic Year : 2019-2							Sanctio	n Date: 10/	02/2020	
Stadelit Name	Gend	ler Course	Туре	No. of	Rate	Maintenence	Applications	sType: Fre	sh	
1658097 MAMTA SAHU	Female	B. Com./Commerce/I	EL-A	Month		Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
1682505 GITANJALI MANIKPURI	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	
1695179 SANDHYA PATEL	Female		Fresh	9	70	630	0	1273		19
1676431 KIRAN JAISWAL	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	19
1673810 KAVITA RAJAK	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	19
1663656 PARWATI GOSWAMI	Female		Fresh	10	70	700	0		1273	19
1647305 KUSUM LATA	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1273	1273	19
1657171 RISHIKA MANIKAPURI	Female	B. Com./Commerce/I	Fresh	10	70	700		1273	1273	19
1633083 YAMINI SAHU	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	197
1652111 KUSUMLATA SHRIWAS	Female	B. Com./Commerce/I	Fresh	10	70	700	0	1273	1273	197
1648943 CHITRAREKHA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	197
1676674 SUGANDHI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	197
1672229 DURGA NISHAD		B. A./Arts/I	Fresh	9	70		0	1273	1273	197
1618583 SARASHWATI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	190
1653940 YASAMANI CHANDRAKAR	Female	B. A./Arts/I	Fresh	10	70	630	0	1273	1273	. 1903
1636011 SRISHTI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	700	0	1273	1273	1973
1677196 MANJUSHA YADAV	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1676537 DEVKUMARI PATEL	Female	B. A./Arts/I	Fresh	10		630	0	1273	1273	1903
	Female	B. A./Arts/I	Fresh	9	70	700	0	1273	1273	1973
ration :				3	70	630	0	1273	1273	1903

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date :

(Signature & Seal of PRINGERAL stitution)

Name Gantel H.V. .. S. Girls College Kawardha. Distr.-Kabirdhem (C.C.

Page 6/12

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. KAWARDHA



State: Government of Chhattisgarh

Sanction Number: N/9/2411/3/10/95812

Academic Year 2019-20 Application ID Student Name							Sanctio	n Date: 10/	02/2020	
Application ID Student Name	Gende	er Course	Туре	No. of			Application	s Type : Fre:	sh	
1666921 PARVATI PATEL	Female	B. A. A.A. (T	2541	Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1653047 DHANESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	107
1652152 POORNIMA CHANDRAVANSH	I Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1647087 SANDHYA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273		1973
1645850 ANJALI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1647004 DEEPTI CHANDRAVANSHI		B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1903
1646788 ROSHNI NATHJOGI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1973
1647392 GODAVARI SAHU	Female	B. A./Arts/I	Fresh	8	70	560	0		1273	1903
1507739 NEHA SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1833
	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1903
1621123 SHRADDHA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1617010 LUMESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	70	630		1273	1273	1973
1662518 BEENA PATEL	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1653591 JALESHWARI NATH JOGI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1903
1660402 PRATIMA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	8	70		0	1273	1273	1973
1617706 YASHOMATI SAHU	Female	B. A./Arts/I	Fresh	10	70	560	0	1273	1273	1833
1625677 BIMLA PATEL	Female	B. A./Arts/I	Fresh	8	70	700	0	1273	1273	1973
1648761 POOJA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	560	0	1273	1273	1833
1647999 SATYABHAMA VERMA	Female	B. A./Arts/I	Fresh	9		630	0	1273	1273	1903
laration :			Tresii	9	70	630	0	1273	1273	1903

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & Seal Prince A Institution) NaiCed Work! Velles: Girls College Kawardha, Distr.-Kebirdhem (C.C.



Government of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Female

Female

Female

Female

Category

Institute Name

Academic Year:

CHANDRAVANSHI

1636927 HEMLATA CHANDRAVANSHI

1621695 BAMLESHWARI KASHYAP

1683183 SHRADDHA CHANDRAVANSHI

1636765 SARASWATI CHANDRAVANSHI Female

OBC

2019-20

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. KAWARDHA

State

Government of Chhattisgarh

Sanction Number

0

0

0

0

0

N/9/2411/3/10/95812

1273

1273

1273

1273

1273

1903

1973

1973

1973

1973

Sanction Date

10/02/2020

Application ID	Student Name	Gender	Course						s Type : Fre	sh	
1647484	NEHA SAHU	15.0		Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	TRIVENI PATEL	Female	B. A./Arts/I	Fresh	10	70		0	1273	1273	1973
	RATNA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	-	
	BHOJLI PATEL	Female	B. A./Arts/I	Fresh	10	70	700			1273	1903
		Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
	PRITI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70		0	1273	1273	1973
	SMRITI SAHU	Female	B. A./Arts/I	Fresh			700	0	1273	1273	1973
1622736	PUSHPANJALI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1626710 E	BHUMIKA SAHU	Female	B. A./Arts/I		10	70	700	0	1273	1273	1973
1619369 A	MISHA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1638704 G	AYATRI SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1625613 N	EHA PATEL	Female		Fresh	10	70	700	0	1273	1273	1973
	TTU YADAV		B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1636973 FL			B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
		cemale	R A /Artc/T								

9

10

10

10

10

70

70

70

70

70

630

700

700

700

700

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Fresh

Fresh

Fresh

Fresh

Fresh

Place: Date :

(Signature & Sea Particular Institution) Name Gep Poly No. Girls College Kawardha, Distr.-Kabirdham (C. ..

1273

1273

1273

1273

1273

B. A./Arts/I

B. A./Arts/I

B. A./Arts/I

B. A./Arts/I

B. A./Arts/I

Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

Government of Chhattisgarh

Sanction Number N/9/2411/3/10/95812

	Academic Year	AHUMAN		STATE COLL					Sanction N	lumber: N/	9/2411/3/10/958	12
Application II	Student	2019-20 Name G	iender						Sanctio		02/2020	
162965	1 KHILESHVARI SAH		F. COLD	Course	Туре		Rate	Maintenence	Applications	sType: Fre		
162412	1 SHARDA SAHU			B. A./Arts/I	Fresh	Month		Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
	S ASHWANI PATEL	Fem		B. A./Arts/I	Fresh	10	70	700	0	1273		
	SARITA SAHU	Fem	nale	B. A./Arts/I		9	70	630	0		1273	19
	MAHARANI SAHU	Fem	ale	B. A./Arts/I	Fresh	10	70	700		1273	1273	19
		Fema		B. A./Arts/I	Fresh	10	70	700	0	1273	1273	19
	SARITA PATEL	Fema		B. A./Arts/I	Fresh	9	70		0	1273	1273	197
	SARDA NIRMALKAR			B. A./Arts/I	Fresh	10	70	630	0	1273	1273	190
1728329	SARITA NIRMALKAN	R Fema			Fresh	8	70	700	0	1273	1273	197
1730662	ANJALI SHRIWAS	Fema		3. A./Arts/I	Fresh	9		560	0	1273	1273	183
1628371	MUKESHWARI			3. A./Arts/I	Fresh	10	70	630	0	1273	1273	190
	CHANDRAVANSHI	Femal	le B	3. A./Arts/I	Fresh		70	700	0	1273	1273	
1678733	DIVYA PATEL	Female	le 0	A //		9	70	630	0	1273	1273	197
1680535	LUKESHWARI	Female		. A./Arts/I	Fresh	9	70			-1,3	12/3	1903
	CHANDRAVANSHI	remak	е в.	. A./Arts/I	Fresh	10		630	0	1273	1273	1903
1676233	SANTOSHI SAHU	Female	e R	A./Arts/I		10	70	700	0	1273	1273	
1669815 S	HUBHANGI JAISWA	L Female			Fresh	9	70	630	_			1973
	JALA PATEL	· cmarc	٥.	A./Arts/I	Fresh	10	70		0	1273	1273	1903
	HALINI PATEL	Female	٥.	A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
		Female	В.	A./Arts/I	Fresh	10		700	0	1273	1273	1973
ation :						10	70	700	0	1273	1273	1973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place: Date :

(Signature & Seal Principal Institution) Name (Girls College

*awardhe Distr.-Kabirdham (C.O.



Government of Chhattisgarh

Scholarship Scheme Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.



State Government of Chhattisgarh

Sanction Number N/9/2411/3/10/95812

1700533 84487	Gende	Course	Туре	No. of	D-4		Applications	s Type : Fres	h	
1709532 BHARTI YADAV	Female	B. A./Arts/I	E3003	Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
1680725 SARASWATI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1272	
1682883 OMESHWARI KAUSHIK	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	19
1677885 ROSHANI CHANDRAKAR	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	190
1697816 SNEHA SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	190
1678848 DEVKI YADAV	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	190
1640905 SUNAYNA SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	197
1678698 OM BAI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	190
1684032 PRIYA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	197
1678495 DURGA SAHU	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1682352 KUMESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1973
1630015 BINESHWARI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	1903
1670397 RAJ KUMARI PATEL	_	-,, -	Fresh	8	70	560	0	1273	1273	1903
1719789 MADHU NIRMALKAR	Female	B. A./Arts/I	Fresh	10	70			12/3	1273	1833
1719097 DILANI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1647846 PUSHPA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70 70	700	0	1273	1273	1973
1641309 LAXMI SAHU	Female	B. A./Arts/I	Fresh	10	70	630	0	1273	1273	1903
DANII SANO	Female	B. A./Arts/I	Fresh	10		700	0	1273	1273	1973
ion :				10	70	700	0	1273	1273	1973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place: Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category OBC

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

Academic Year: 2019-20



Government of Chhattisgarh

N/9/2411/3/10/95812

Sanction Date: 10/02/2020

Sanction Number

pplication	ID Student No.							Ourious	on Date: 10/0	02/2020	
	Sanctive Manne	Gende	r Course	Туре	No. of			Application	s Type : Fres	sh	
	27 GULABA SINHA	Female	B. A./Arts/I		Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amo
16523	85 APARNA VERMA	Female		Fresh	10	. 70	700	0	1070		
16534	55 NEEMA MANIKPURI	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	
165072	23 DINESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	70		0	1273	1273	1
165339	96 PURNIMA CHANDRAVANSHI		B. A./Arts/I	Fresh	9	70	700	0	1273	1273	1
	8 SEEMA VISHWKARMA	· cindic	B. A./Arts/I	Fresh	10		630	0	1273	1273	1
	2 SHILOCHANA YADAV	Female	B. A./Arts/I	Fresh	9	70	700	0	1273	1273	1
	1 RAJESHWARI YADAV	Female	B. A./Arts/I	Fresh	_	70	630	0	1273	1273	19
		Female	B. A./Arts/I	Fresh	8	70	560	. 0	1273	1273	18
	BHUKESHWARI KAUSHIK	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	19
	DHANESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	19
	CHHUNNI JAISWAL	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	19
	JANKI YADAV	Female	B. A./Arts/I		9	70	630	0	1273	1273	
	OMESHWARI KAUSHIK	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	190
1668495	KHUSHBOO SINHA	Female	B. A./Arts/I	Fresh	10	70	700	0	1273		190
1617258	YASHOMATI SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	197
1617320	SAROJANI SAHU	_	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	190
1642544	YAMINEE VERMA			Fresh	9	70	630	0		1273	197
	POOJA VERMA	_	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	190
	1 0 - 1	remale	B. A./Arts/I	Fresh	9	70	630		1273	1273	1973
tion :							030	0	1273	1273	1903

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place:

Date :

(Signature & Seal of PROSEPA Name Gapital But 157 S. Girls College Kawardha Distr.-Kabirdham (C.C.

Government of Chhattisgarh

Scholarship Scheme

Post Matric OBC Scholarship

Category

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

State

Government of Chhattisgarh

Sanction Number

N/9/2411/3/10/95812

plication ID	Academic Year: 2019-20 Student Name							Sanctio	on Date: 10/	02/2020	
	THE REAL PROPERTY AND ADDRESS OF THE PARTY.	Gende	Course	Туре	No. of	Rate	Maintenence		s Type : Fre		
	MANISHA CHANDRAVANSHI	I Female	B. A./Arts/I		Month	Rote	Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
1734835	RESHMA PATEL	Female		Fresh	10	70	700	0	1273	1273	10
1650242	SHIVRANI PATEL	Female	B. A./Arts/I	Fresh	9	70	630	0	1273		197
1652566	PRATIBHA JAISWAL		B. A./Arts/I	Fresh	9	70	630	_		1273	190
	OGESHWARI YADAV	Female	B. A./Arts/I	Fresh	10	70		0	1273	1273	190
	IANJU SAHU	Female	B. A./Arts/I	Fresh	10	-	700	0	1273	1273	197
		Female	B. A./Arts/I	Fresh		70	700	0	1273	1273	197
	IAMTA KAUSHIK	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	197
_	ANGA YADAV	Female	B. A./Arts/I		10	70	700	0	1273	1273	1973
1668440 G	OMTI SINHA	Female	B. A./Arts/I	Fresh	10	70	700	0	1273	1273	1973
1687778 SE	EMA SAHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1273	1273	
1654534 MA	MTA NATH JOGI	Female	· ·	Fresh	9	70	630	0	1273		1903
1676644 NU	TAN CHANDRAVANSHI	-	B. A./Arts/I	Fresh	9	70	630	0		1273	1903
	HA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	70	630		1273	1273	1903
1002070 05	IN CHANDIOAVANONI	Female	B. A./Arts/I	Fresh	9	70		0	1273	1273	1903
							630	0	1273	1273	1903
						Total:	136850	0	264488	264488	401338

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected:

Place: Date :

(Signature & Seal opposite Company Stitution) Name Capita Per M.S. Girls College Kawardha, Distc-Kabirdhem (C.G.

Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. Institute Name

Academic Year 2019-20



State Government of Chhattisgarh

Sanction Number

R/9/2411/1/9/95876

Sanction Date 10/02/2020

Academic Fear: 2019-	·20						OBINOR	n Date 10	02/2020	
Application ID Student Name	Gen	der Course	Туре				Application	s Type : Re	newal	
1510387 RINKEY MOHALE	Female	B. A./Arts/II	уре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
1672741 ANITA KURREY	Female	5. A./AIG/II	Renewal	9	570		0	1272		生态的。
1563619 DIMPLE BANJARE	Female	5. A./AIG/II	Renewal	9	570	5130	0	1273	1273	6
1520665 MAHESHWARI GENDRE	Female	0. A./AIG/II	Renewal	9	570	5130		1273	1273	6
1337902 SEEMA ANAND	Female	5. A./AIG/III	Renewal	9	570	5130	0	1273	1273	6
1644045 UNMA MIRA)		B. A./Arts/III	Renewal	9	570		0	1273	1273	6
1494012 RAJANI KOSALE	Female	B. A./Arts/III	Renewal	8	570	5130	0	1273	1273	6
1486808 PULESHWARI ADILE	Female	B. Sc./Computer Science/I.	Renewal	9	300	4560	0	1273	1273	58
	Female	B. Sc./Computer Science/II	Renewal	9	300	2700	0	1303	1303	40
1488545 HEM KUMARI BANJARE	Female	B. Sc./Computer Science/II	Renewal	9		2700	0	1303	1303	40
1486863 SAPNA KHANDE	Female	B. Sc./Computer Science/II		9	300	2700	0	1303	1303	40
1542489 LAXMI KOSLE	Female	B. Sc./Computer Science/II	Renewal		300	2700	0	1303	1303	40
1642024 JAYANTI BARMAN	Female	B. Com. (Hons.)/B.com./III	Renewal	9	300	2700	0	1303	1303	40
1535301 DAMINI RATRE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1273	1273	393
1652033 LAXMI PURENA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1492395 JUHI BANJARE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
509188 MANJU BAGHEL	Female	B. Sc./Science/II		8	300	2400	0	1303	1303	370
341780 SHUSHMA DAHIRE	Female	B. Sc./Computer Science/III	Renewal	9	300	2700	0	1303	1303	4003
	1 22 2 2	or only computer Science/III	Renewal	9	570	5130	0	1303	1303	6433

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

(Signature & Seal of Respective Institution) Name Gartific Rule 13. Girls College Kawardha, Distr.-Kabirdhem (C.6.



Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL Institute Name

Government of Chhattisgarh

Sanction Number

R/9/2411/1/9/95876

Academic Year 2019							Sanction	Date 10/	02/2020	
pplication ID Student Name	Gend	er Course	Туре				Applications	Type Ren	newal	
1122747 Jyotish Banjare	Female	THE RESIDENCE OF THE PARTY OF T	A STATE OF THE PARTY OF THE PAR	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
1500401 NEETU KOSHLE	Female	o. Sc./Computer Science/II	I Renewal	8	300	2400	0	1303	1303	-
1553571 POORNIMA KHARE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	37
1647422 PRIYANKA KOSLE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303		40
1572717 NEELU DILAWAR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1498550 SAVITA BHASKAR	Female	B. Sc./Science/III	Renewal	9	300	2700	0		1303	400
1643219 PRITI LANJHEKAR	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	400
1670069 MEENA BANDHEKAR	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	370
1498590 KALYANI KURRE		B. Sc./Science/II	Renewal	9	300	2700		1303	1303	400
1580113 GAYTRI DEHARIYA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1518455 SHARMILA MIRE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	4003
1517802 PURNIMA GHATHOLE	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	4003
1503470 SANTOSHI BANJARE	Female	B. Sc./Science/III	Renewal	9	300		0	1303	1303	4003
1503840 JAMESHWARI KOSARIYA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	4003
1352523 SAROJANI BANJARE	Female	B. Sc./Science/II	Renewal	8	300	2700	0	1303	1303	4003
	Female	B. Sc./Science/III	Renewal	9	300	2400	0	1303	1303	3703
1574510 KIRAN BARVE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	4003
277261 UMESWARI JANGDE	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	4003
894085 Nageshwari Katanwar	Female	B. Sc./Science/II	Renewal	9		2700	0	1303	1303	4003
on :				- 1	300	2700	0	1303	1303	4003

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Place :

Date :

(Signature & Seal opposition) Name (Capita Helen 5. Girls College

Kawardha, Diett.-Kabirdhem (C.S.

Government of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme

Category

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. KAWARDHA

Government of Chhattisgarh

Sanction Number

R/9/2411/1/9/95876

Sanction Date

10/02/2020

Academic Year : 2019-20 ation ID Student Name	Continu	1 Page 1 Page 1					Application	s Type : Ren	ewal	
ation ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance		Other Fee	Total Fee	Total Amoun
1677807 GANGA KURREY	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1303	1303	340
1527295 SHASHI KURRE	Female	B. Sc./Science/III	Renewal	9	570	5130	0	1303	1303	643
1525730 DEEPIKA TANDAN	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	400
1564576 RUPA OGRE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1548201 RAKHI KOSRE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1637150 KIRANLATA KESHAKAR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1545670 KALPANA BANJARE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1182302 SHAILENDRI GARHEWAL	Female	B. Com./Commerce/III	Renewal	9	300	2700	0	1273	1273	397
1321602 NILESHWARI JANGDHE	Female	B. Sc./Science/III	Renewal	9	570	5130	0	1303	1303	643
482306 KAMNI TANDAN	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	643
1333830 ragini baghel	Female	B. Sc./Science/III	Renewal	9	570	5130	0	1303	1303	643
1501481 PREETI BANJARA	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
1501586 YESHWARI BANDHE	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
1514219 MITHLESH CHATURVEDI	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1549395 SWANI KHARE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1564724 ANJANI DINDORE	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1273	1273	3973
1144507 MANISHA JOGVANSHI	Female	B. Com./Commerce/III	Renewal	9	300	2700	0	1273	1273	3973
1517815 SANJITA GHRITLAHARE	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1273	1273	3973

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

(Signature & Seal of Head of the Institution

Kawardhe Matt-Kabirdhem (C.&

Government of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme

> Category SC

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. Institute Name

KAWARDHA

Government of Chhattisgarh

R/9/2411/1/9/95876 Sanction Number

10/02/2020 Sanction Date

ication ID	Student Name	Gender	1 1 10 and a little of					Application	s Type : Ren	ewal	
11611		Gemder	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	KIRAN DAHIRE	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1273	1273	397
1672499	YASHVANTIN DINDORE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	367
1373468	SANGEETA GANDHARAV	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1654960	KALASH TANDAN	Female	B. A./Arts/III	Renewal	9	570	5130	0	1273	1273	6403
1360647	BABY MIRE	Female	B. A./Arts/III	Renewal	9	570	5130	0	1273	1273	6403
1498987	KIRAN CHATURVEDI	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1509926	DURGESHWARI MAHIPAL	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1496213	UTTRA OGHARE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1497025	MANISHA DAHIRE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1503033	NAMTARA GENDRE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1567071	RADHA BARMATE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1525095	LAXMI DONDEY	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1349817	USHA GENDRE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1447607	KIRTI GENDRE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1477531 L	ALITA SHIVARE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1653906	SANTOSHI GANDHARAW	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1678200 C	CHANDANI ANANT	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1532928 I	NDRANI JANGDE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from/all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date: (Signature & Seal of ACLASTICATION) Name Gontal Better S. Girls College Kawardha, Distt.-Kabirdham (C.C.



Government of Chhattisgarh

Government of Chhattisgarh

R/9/2411/1/9/95876 Sanction Number

10/02/2020 Sanction Date:

Scholarship Scheme

Category

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Post Matric SC Scholarship

Academic Year : 2019-20								Type: Ren	ewal	Total Amount
plication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1671318 SHIVKUMARI SONVANI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	367:
1579346 BHARTI AHIRE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1483298 MALTI CHELAK	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1518564 RADHIKA TANDAN	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1576412 PRIYANKA GHRITLAHARE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1641899 PINKI KOSLE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1637462 KHEL BAI KURRE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1566334 ROSHANI DIWAKAR	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1506001 DURPATI TONDE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1498268 DIVYABHARTI PATRE		B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1483518 UTTRA DINDORE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1550117 PURNIMA JANGDE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1529497 LALITA BANJARE	Female		Renewal	9	300	2700	0	1273	1273	3973
1483413 SHARMILA DINDORE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1617485 BHAGWATI RATRE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1618138 JYOTI MANDLE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1507085 NEELAM TANDAN	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1638321 CHANDA KOSALE	Female	B. A./Arts/II	Kellewal							

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date : (Signature & Seal prompted Institution)
Name (Capital Arths GITS College Kawardha, Distr.-Kabirdham (C.C.



Government of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme

> Category SC

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. Institute Name

KAWARDHA

2040 00

State

Government of Chhattisgarh

Sanction Number R/9/2411/1/9/95876

10/02/2020 Sanction Date

	Academic Year: 2019-20							Application	s Type: Ren	ewal	
Application ID		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee		Total Fee	Total Amount
	NANDINI KOSHLE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1333950	PINKEE KOSARIYA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1496735	UGESHWARI BANJARE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1486679	LALITA BANJARE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1627802	PRIYANKA MIRAJ	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1617618	DURGA KHARE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1343593	AHILYA DONGRE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1616324	MADHU KURRE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1403905	GANGA MARKHANDE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1481446	PADMANI GHRITLAHARE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1343450	MOHANI MOHALE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1496725	JYOTI CHATURVEDI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1577578	MITHLA PATRE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1325837	KAVITA RANADY	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1330928	KHETESHWARI BANJARE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
	RESHMA KOSLE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
	DILESHWARI KOSHLE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973

Declaration:

1553416 ARTI GANDHARW

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Renewal

9

300

Place: Date : Kawardha, Đị str.-Kabirdhem (C.

1273

3973

1273

0

2700

B. A./Arts/II

Female

Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

> SC Category

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL Institute Name KAWARDHA

Government of Chhattisgarh State

R/9/2411/1/9/95876 Sanction Number

10/02/2020 Sanction Date

Academic Year : 2019-20							Application	s Type : Ren	ewal	Total Amount
ication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	
1600687 SHANU HATHALE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	397
1578070 MONGRA WARTE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	397
1375681 ANNU KOSALE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	
1486496 MADHU KURRE	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	3973
1509959 ANJALI SONWANI	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	3973
	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	3973
1483146 SEEMA TANDAN	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	3973
1631997 PAYAL DAHARIYA	Female	B. A./Arts/II	Renewal	8	300		0	1273	1273	3673
1502846 MAHESHWARI KURRE	Female	B. A./Arts/II	Renewal	8	300		0	1273	1273	3673
1541196 SEEMA MATHUR	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	3973
1498442 DURGESHWARI CHATURVEDI	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	397
1651221 KANYA BANJARE			Renewal	8	300		0	1273	1273	3673
1512591 MUKESHWARI LAHRE	Female -	B. A./Arts/II	Renewal	9	300		0	1273	1273	397
1550042 SAHIBIN RATRE	Female	B. A./Arts/III		9	300			1273	1273	397
1618903 JAMUNA MOHALE	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	397
1643599 KUNTI SONVANI	Female	B. A./Arts/II	Renewal	9	300				1273	397
1544912 SONIYA MIRAJ	Female	B. A./Arts/II	Renewal						1273	397
1490599 PURNIMA GENDRE	Female	B. A./Arts/II	Renewal	9					1273	397
1520549 SONAL KURRE	Female	B. A./Arts/III	Renewal	9	300	2700		12/3	-2.0	

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

(Signature & Seal of Health Care institution) Name (Quite! LBL N. R. S. Girls College Kawardha, Diett.-Kabirdhem (C. ..



Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. Institute Name KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/9/2411/1/9/95876

Sanction Date

10/02/2020

2040 20							Application	Type: Ren	ewal	- A LA - CHAP
Academic Year : 2019-20 Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
Control of the Contro	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	
1600687 SHANU HATHALE	-				300	2700	0	1273	1273	397
1578070 MONGRA WARTE	Female	B. A./Arts/II	Renewal	9			0	1273	1273	3973
1375681 ANNU KOSALE	Female	B. A./Arts/III	Renewal	9	300		0	1273	1273	3973
1486496 MADHU KURRE	Female	B. A./Arts/II	Renewal	9	300			1273	1273	3973
1509959 ANJALI SONWANI	Female	B. A./Arts/II	Renewal	9	300	2700	0		1273	3973
1483146 SEEMA TANDAN	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273		3973
1631997 PAYAL DAHARIYA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3673
1502846 MAHESHWARI KURRE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	
	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1541196 SEEMA MATHUR			Renewal	9	300	2700	0	1273	1273	3973
1498442 DURGESHWARI CHATURVEDI	Female	B. A./Arts/II			300	2700	0	1273	1273	3973
1651221 KANYA BANJARE	Female	B. A./Arts/II	Renewal	9		2400	0	1273	1273	3673
1512591 MUKESHWARI LAHRE	Female	B. A./Arts/II	Renewal	8	300		0	1273	1273	3973
1550042 SAHIBIN RATRE	Female	B. A./Arts/III	Renewal	9	300	2700	-	1273	1273	3973
1618903 JAMUNA MOHALE	Female	B. A./Arts/II	Renewal	9	300	2700	0	-		3973
	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	
1643599 KUNTI SONVANI	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1544912 SONIYA MIRAJ		B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1490599 PURNIMA GENDRE	Female		Renewal	9	300	2700	0	1273	1273	3973
1520549 SONAL KURRE	Female	B. A./Arts/III	Kellewal		300					

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date :

(Signature & Seal of IRED SCAP Astitution) Kawardha, Diett.-Kabirdhem (C. ..

Page 7/8

Government of Chhattisgarh

Scholarship Scheme

Post Matric SC Scholarship

Category

SC

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL. Institute Name

KAWARDHA

2019-20 Academic Year



Government of Chhattisgarh

Sanction Number

R/9/2411/1/9/95876

Sanction Date

10/02/2020

cation ID Student Name	Gender	Course	Туре	EDVE DOWN			Application	s Type Ren	newal	
	44 4161311		Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amoun
1510281 AARTI SONWANI	Female	B. A./Arts/II	Renewal	0	200	Allowance	11111111		4272	397
1492332 PUSHPANJALI KOSHLE	Female	B. A./Arts/II	Renewal	,	300	2700	0	1273	1273	
1538987 KAMAL NARANGE	Female	B. A./Arts/III		9	300	2700	0	1273	1273	397
		b. A./AIG/III	Renewal	9	300	2700	0	1273	1273	3973
1272318 MINAKSHI DIWAKAR	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1353895 NANDNI BARMAN	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1573429 KAJAL NARANG	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1553213 INDRANI KURRE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
					Total :	385410	0	169236	169236	554646

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of PERPORAL stitution) Name (Capital Better#: \$. Girls College Kabirdhem (C.6

Place:

Date :

Government of Chhattisgarh

HILLIII

Scholarship Scheme Post Matric SC Scholarship

Category SC

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year 2019-20

State

Government of Chhattisgarh

Sanction Number

N/9/2411/1/9/96097

Sanction Date

11/02/2020

Applications Type Fresh

							Applications	s type ries	'	
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1622589 HULST DIWAKAR	Female	B. A./Arts/1	Fresh	10	570	5700	0	1273	1273	6973
1625359 CHANDRAMA DAHIRE	Female	B. A./Arts/1	Fresh	10	570	5700	0	1273	1273	6973
1622686 RITU KHANDE	Female	B. A./Arts/1	Fresh	10	570	5700	0	1273	1273	6973
1622779 SHAKUNTALA GHRITALAHRE	Female	B. A./Arts/1	Fresh	10	570	5700	0	1273	1273	6973
1622319 CHANDNI KOSHLE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1621086 SAVITRI KHANDE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1636967 AARTI DAHARIYA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1636855 SUMAN TANDAN	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1668091 DURGA TANDAN	Female	B. Sc. (Hons.)/Zoology/I	Fresh	10	300	3000	0	1303	1303	4303
1641473 MANORAMA MAHILANG	Female	B. Sc./Computer Science/I	Fresh	10	300	3000	0	1303	1303	4303
1624819 KAJAL LAHRI	Female	B. Sc./Maths/I	Fresh	10	570	5700	0	1303	1303	7003
1652574 PINKI RANI LAHRE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1628890 ALISHA DEHARE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1621271 HIMANT DAHIRE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003
1631868 NISHA LAHARE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1628137 SHALINI BARVE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1643971 PADMANI BHARDWAJ	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303

Declaration:

Place

Date

(Signature & Sealoffiend of the Capitalistic)
Name (Capital Press) Kabirdham (Capital Press)

Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

Institute Name

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

N/9/2411/1/9/96097

Sanction Date

11/02/2020

Academic Year 2019-20

oplication ID	Student Name	Gender	Course	Туре	Noted	0.1		Applications		h	
1657204	MANAGEMENT AND		ALTERNATION OF THE PARTY OF THE		No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	MANISHA BANJARE	Female	B. Sc./Science/I	Fresh	10	300	3000		HEILE		
1675509	KARINA BHARDWAJ	Female	B. Sc./Science/I	Fresh	8			U	1303	1303	4303
1646672	RAKHI LAHARE	Female	B. Sc./Science/I	Fresh		300	2400	0	1303	1303	3703
1676524	KIRAN BHARDWAJ	Female	B. Sc./Science/I		9	300	2700	0	1303	1303	4003
1655241	DIPTI KURREY			Fresh	10	300	3000	0	1303	1303	4303
	PRIYANKA GANDHARVA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
		Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	
	MAMTA SONWANI	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1303		4303
	PREETI LAHARE	Female	B. Sc./Science/I	Fresh	10	300		0		1303	3703
1617980	PINKY AHIRWAR	Female	B. Sc./Science/I	Fresh	9	300	3000	-	1303	1303	4303
1663735	ROSHINI LANJHI	Female	B. Sc./Science/I	Fresh			2700	-	1303	1303	4003
1670424	YOGESHWARI KOSHLE	Female	B. Sc./Science/I		10	300	5000	0	1303	1303	4303
	PURNIMA DAHARIYA	Female		Fresh	10	300	3000	0	1303	1303	4303
	VIKASINI CHATURVEDI		B. Sc./Science/I	Fresh	8	300	2400	0	1303	1303	3703
		Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	
	1 KAVITA KHANDE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303		7003
1621282	2 RAJESHWARI SONWANI	Female	B. Sc./Science/I	Fresh	9	570		-		1303	7003
163412	9 NAMRATA BHASKAR	Female	B. Sc./Science/I	Fresh	10	570	7250	-	1303	1303	6433
162520	3 KIRTI DHRITLAHRE	Female	B. Sc./Science/I	Fresh			3700	-	1303	1303	7003
164821	5 ALKA BHASKAR	Female	B. Sc./Science/I		10	570	3,00	0	1303	1303	7003
claration :			J. July Suchecy 1	Fresh	10	570	5700	0	1303	1303	7003

<u>Declaration</u>:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & San Formed of the Institution) Nerroy (Capital Dites) Girls College Knwardha, Distr.-Kabirdham (C.G.

Government of Chhattisgarh

Scholarship Scheme

Post Matric SC Scholarship

Category SC

Institute Name

G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

N/9/2411/1/9/96097

Sanction Date

11/02/2020

Acadamia V

olication ID	Student Name	Gender	Course	Туре	No. of	Pate	Maintanana	Application			
1649368	ANITA BHARTI	民意除罪		.,,,,	Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
	KUNJKALI GHOSLE	Female	B. Com./Commerce/I	Fresh	10	300		0	1273	1273	427
		Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	
	SHAKUNTALA GENDLE	Female	B. Com./Commerce/I	Fresh	10	300		0	1273		427
•	NISHA KOSLE	Female	B. Com./Commerce/I	Fresh	10	300	3000			1273	427
	ROSHANI SONWANI	Female	B. Com./Commerce/I	Fresh	10	300		0	1273	1273	427
1636808	SANGITA BHARTI	Female	B. Com./Commerce/I	Fresh			3000	0	1273	1273	4273
1629985	SUNAINA BANJARE	Female	B. A./Arts/I		10	300	3000	0	1273	1273	4273
1641479	CHANDNEE BANJARE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1639511	YAMINI CHATURVEDI	Female		Fresh	9	300	2700	0	1273	1273	3973
	MANISHA RATRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	NEHA DAHIRE		B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	FOOLMANI KURREY	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	SANGITA BANJARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	AASMA BANJARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1625972	ANJALI HATILE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1628104	SE) KUMARI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	
1637816	MEENA KUMARI	Female	B. A./Arts/I	Fresh	9	300	2700	0			4273
1642638	SAVITA SONWANI	Female	B. A./Arts/I	Fresh	9	300	2700		1273	1273	3973
ration :		J		MA ****	,	300	2/00	0	1273	1273	3973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date : (Signature & Seal SHABUPAL Institution) Name Capital Veters: Girls College

Kawardha, Distr-Kabirdham (C.)

Scholarship Scheme

Government of Chhattisgarh

State

Government of Chhattisgarh

Sanction Number

N/9/2411/1/9/96097

Sanction Date

11/02/2020

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

Post Matric SC Scholarship

KAWARDHA

ication ID	Academic Year 2019-20							Applications	Type Free	sh	
42	Stadent marine .	Gender	Course	Туре	No. of .	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1637861	1 JYOTI LAHRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
1642994	LATA LAHARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
1676370	MALTI BANJARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
1673567	KAVITA KOSHLE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
1653188	KAMINI NARANG	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
1677554	REETU PATRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
1676966	KAVITA GENDLE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427.
1682159	RAJNI GAHADE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	
1689321	SWATT CHOUDHARY	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273		427.
1689353	GANESHIYA LANJHI	Female	B. A./Arts/I	Fresh	10	300	3000	0		1273	4273
1685161	MANSARI PATLE	Female	B. A./Arts/I	Fresh	10	300	3000		1273	1273	4273
1667911	GAURI DHURWE	Female	B. A./Arts/I	Fresh	10	300		0	1273	1273	4273
1683601	PRIYANKA BAGHEL	Female	B. A./Arts/I	Fresh	10		3000	0	1273	1273	4273
1675719	SANDHYA SATYAVANSHI	Female	B. A./Arts/I	Fresh	-	300	3000	0	1273	1273	4273
	SANTOSHI KOSLE	Female	B. A./Arts/I		10	300	3000	0	1273	1273	4273
	ANJALA SATYAM			Fresh	10	300	3000	0	1273	1273	4273
	RITU JANGDE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
-		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
16/53/8	NILIMA CHATURVEDI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh

Scholarship Scheme Post Matric SC Scholarship

Category

Institute Name G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

State:

Government of Chhattisgarh

Sanction Number: N/9/2411/1/9/96097

Sanction Date: 11/02/2020

	Academic Year : 2019-20								s Type: Fre	Section 1 to 1	
plication ID	Student Name	Gender	• Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1671118	POONAM AHIRVAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1698876	REENA KHANDE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	. 1273	3973
1699241	PRAMILA DAHIRE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1699256	RANJEETA JOSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1664229	MANTORA GENDLE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1658672	JAMBAI GHOSHLE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1639871	POOJA GHANDHARV	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1670745	JITTU BARLE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1667151	BHUNESHWARI TANDAN	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1657509	GAJGAMINI BANJARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1637538	YAMUNA MOHALE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1654526	SARITA JANGDE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1653985	RAKHI SARTHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1669463	PUSHPA KHUNTE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1666206	PRITI DINDORE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1705689	CHAMELI GHRITLAHARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	NAGEENA GAYAKVAD	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
	HEMLATA SONVANI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is/detected/

Place:

Date:

(Signature & Seal of Head of the Institution)
Name Capital Levels Girls College



Government of Chhattisparh

Scholarship Scheme

Post Matric SC Scholarship

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Government of Chhattisgarh

Sanction Number

N/9/2411/1/9/96097

Sanction Date

11/02/2020

	Academic Year	2019-20	
pplication ID	Student	THE RESERVE TO THE PERSON NAMED IN	

ication ID	Student Name	Gender	Course .	T-m			-		s Type Fres	n	
1617960	NANDESHWARI BARLE	-	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amoun
	KUSUM KURRE	Female	B. AJAMWI	Fresh	9	300	the same of the sa	0	1273	1273	397
		Female	B. A/Arts/I	Fresh	9	300	2700	0	1273		
	MANIKA NARANG	Female	B. A./Arts/I	Fresh	9	300				1273	397
1617448	LALIMA KOSLE	Female	B. A/Arts/I	Fresh			2700	0	1273	1273	397
1633300	RAVINA TANDAN	Female	B. A/Arts/I	-	10	300	3000	0	1273	1273	427
1634394	SHIVKUMARI DAHARIYA	Female		Fresh	10	300	3000	0	1273	1273	427
	KARISHMA TONDE		B. A/Arts/I	Fresh	9	300	2700	0	1273	1273	397
and the second second	ROSHAN BAGHEL	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
12011		Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427
	DYOTI BANJARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	
1659927	SONAM JOSHI	Female	B. A/Arts/I	Fresh	8	300	2400	^			427.
1680126	CHULI CHATURVEDI	Female	B. A./Arts/I	Fresh	10	300		0	1273	1273	3673
1621588 F	PATRIKA PATRE	Female	B. A./Arts/1	-			3000	0	1273	1273	4273
			or refresh	Fresh	9	300	2700	0	1273	1273	3973
						Total:	332730	0	129443	129443	462173

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place Date : (Signature & Seal of read of the Institution)
Name (Contained of S. Girls College) andha Mistr Kabirdham IC B

Government of Chhattisgarh

1111111

Scholarship Scheme Post Matric

Post Matric ST Scholarship

Category S

Institute Name

ame . G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL KAWARDHA

Academic Year: 2019-20

State Government of Chhattisgarh

Sanction Number

R/9/2411/2/7/96143

Sanction Date

10/02/2020

Applications Type: Renewal

pplication IC	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
152201	8 RESHAM DHURWE	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1530603	NIRMALA DEVI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1539327	MAMTA DHURWE	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
1339590	SHIV KUMARI DHURWEY	Female	B. A./Arts/III	Renewal	9	570	5130	0	1273	1273	6403
1539451	SUNEETI NETAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1648263	SANGITA MERAVI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1642658	GANGA DHURVE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
1489468	KAVITA MARKAM	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
1516880	SUSHMA DHURWE	Female	B. Sc./Computer Science/III	Renewal	8	300	2400	0	1303	1303	3703
1656414	AMRAUTIN MASRAM	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
1680731	NEERA DHURVE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	4003
1509851	SONIYA DHURWE	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
1570163	JYOTI NETAM	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
1488928	SANGEETA MERAVI	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
1507836	SANTOSHI NETAM	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	4003
1575785 A	ANUSUIYA DHURWE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703
	SANTOSHI MARKAM	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1303	1303	3703

Declaration:

Place : Date : (Signature & SERMINGEPAITHE Institution)

Kawardho Wal -Kabirdhem (C.6

Government of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL KAWARDHA

State

Government of Chhattisgarh

Sanction Number

R/9/2411/2/7/96143

Academic Year 2019-	20 Gender						Sanction		02/2020	
1651969 SUSHMA NETAM	A Cande	Course	Туре	No. of Month	Rate	Maintenence	Applications Tuition Fee	Type: Rer	Total Fee	
	Female	B. Sc./Science/II	Renewal	MONG 9		Allowance			rotal ree	Total Amou
1646715 YANI DHURWE	Female	B. Sc./Science/II	Renewal		300	2700	0	1303	1303	40
1364427 MITHALA DHURVE	Female	B. Sc./Science/III	Renewal	9	300	2700	0	1303	1303	40
1512641 JYOTI PARASTE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	40
1504137 DEVANTIN NETAM	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	643
1548445 KHUSHBU DHURWE	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1511009 SUNITA SHYAM	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1303	1303	400
1367034 DINESHIYA DHURWE	Female	B. Sc./Science/III		9	570	5130	0	1303	1303	643
1339389 DEVBATI NETAM	Female	B. Sc./Science/III	Renewal	9	570	5130	0	1303	1303	643
1349852 LALITA DHURWE	Female	B. Sc./Science/III	Renewal	9	570	5130	0	1303	1303	6433
1514351 SANGEETA DHURVE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1303	1303	4003
1529942 DASHODA MARKAM	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
1675298 USHMA DHURVE	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1519552/ANUPA MARAVI	Female		Renewal	8	300	2400	0	1273	1273	3673
1514426 POOJA DHURWEY	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1273	1273	3973
1510519 BISHWANTIN MASRAM		B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
1632837 UMA DHURVE	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1303	1303	6433
	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1626235 KARISHMA DHURWEY	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is period.

Place: Date :

(Signatura & Sealof Wardof @4 rta: Bolloge Name (Capital Leters) ... Kabirdhem (C. ..

Government of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

Institute Name

Academic Year

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

2019.20

State

Government of Chhattisgarh

Sanction Number

R/9/2411/2/7/96143

Sanction Date

10/02/2020

plication ID	Student Name	Gender	Course	Turn	1000			Application:			
1407-60			Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
	PRAMILA DHURVE	Female	B. A./Arts/III	Renewal	9	300	2700		1222	- THE	THE REAL PROPERTY.
1429141	PUSHPLATA DHURWE	Female	B. A./Arts/III	Renewal	9	300			1273	1273	397
1588681	ROSHNI MERAVI	Female	B. A./Arts/II	Renewal			2700	0	1273	1273	397
1520160	SURUJ DHURVE	Female	B. A./Arts/II		9	300	2700	0	1273	1273	397
1586317	NOMIKA MERAVI	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
	REVATI CHHEDAVI	Female		Renewal	8	300	2400	0	1273	1273	3673
	GAYATRI DHURVE		B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
	ASHWANI DHURVE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
		Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	SULEKHA MARKAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	
1632668	INDRANI DHURVE	Female	B. A./Arts/III	Renewal	9	300	2700	0			3973
1340931	SAVITA PORTE	Female	B. A./Arts/III	Renewal	9	570	5130		1273	1273	3973
1382903	PRIYANKA DHURVE	Female	B. A./Arts/II	Renewal	9	300		0	1273	1273	6403
1641558	LILAWATI DHURWE	Female	B. A./Arts/II	Renewal			2700	0	1273	1273	3973
1507469	SARASWATI DHURVE	Female	B. A./Arts/II		8	300	2400	0	1273	1273	3673
	SUMITRA DHURVEY	Female		Renewal	9	300	2700	0	1273	1273	3973
	MADHURI MERAVI		B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
		Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
	REENA KODAPE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1503201 5	SUNDARI BHAGAT	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisparh

Scholarship Scheme Post Matric ST Scholarship

Category

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

State Government of Chhattisgarh

Sanction Number

R/9/2411/2/7/96143

Sanction Date 10/02/2020

Academic Year 2019-20 Applications Tune - Beauty

Application ID	Student Name	Contact						 Application 		ewal	
-ppiication 10	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1567012	DASHODA DHURVE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1538572	MANJU DHURWE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1566005	SHANTI PARTETEE	Female	B. A./Arts/III	Renewal	9	570	5130	0	1273	1273	6403
1631254	ANTKUMARI PORTE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1671700	UMABHARTI MARKAM	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1514528	MAHESHVARI DHURWE	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1618464	ALESHWARI NETAM	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973
1514065	PUSHPA MARAKAM	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1632426	DEVICE TEKAM	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1632953 S	ATRUPA TEKAM	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1512689 S	AKUNLATA DHURWEY	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
1589287 R	UPIKA MARKAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1403338 S	USHILA NETAM	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1570522 D	EVKI DHURVE	Female	B. A./Arts/III	Renewal	9	570	5130	0	1273	1273	6403
1530711 US	SHA DHURWEY	Female	B. A./Arts/II	Renewal	8	570	4560	0	1273	1273	5833
1489369 PR	IYANKA MARKAM	Female	B. A./Arts/II	Renewal	9	570	5130	0	1273	1273	6403
1682734 MA	MTA DHURVE	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
1367029 DI	IRGAVATI DHURWE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1273	1273	3973

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the	above proposal from
Certified that students studying in this institution are entitled for post matrix scholarship and other fees. Printed serial no. 1 to	d copy of online
serial no. 1 to I do here by sanctioning a sum of RsOut of which Rs	m all sources of the
scholarship form attached with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified copy of mark sheet of passing last qualifying example cannot be considered with certified cannot	detected
the end of scholarship (stipped the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period by section of the	
any other regular scholarship/shipeho the rock will be illustrated by	

Place: Date : (Signature & Seal PRE) tablidhem (C.

Government of Chhattisgarh



Government of Chhattisgarh

Sanction Number: R/9/2411/2/7/96143

State:

Sanction Date: 10/02/2020

Category: ST

Institute Name: G. RAJMATA VIJYARAJE SINDHIYA GIRLS COLL.

KAWARDHA

Scholarship Scheme: Post Matric ST Scholarship

	Academic Year: 2019-20					enewal					
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
656470	SUJATA DHURVE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1552916	NEHA DHURVE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1273	1273	3973
1326232	JAGAUTIN DHURVE	Female	B. A./Arts/III	Renewal	8	300	2400	0	1273	1273	3673
1511803	PRITA MARKAM	Female	B. A./Arts/II	Renewal	8	300	2400	0	1273	1273	3673
						Total :	254100	0	96165	96165	350265

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:



Government of Chhattisparh

Scholarship Scheme Post Matric ST Scholarship

Category S7

Category 3

Institute Name G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

Academic Year 2019-20

MANATA I

State

Government of Chhattisgarh

Sanction Number

N/9/2411/2/7/96165

Sanction Date

10/02/2020

Applications Type

ns Type : Fresh

	54629 SARASWATI MARKAM Female B. A./Arts/I Fresh 67581 SARASWATI DHURWE Female B. A./Arts/I Fresh 68330 TRIVENI MERAVI Female B. A./Arts/I Fresh						Application	s type: Fres	sn	
ication ID Student N	ame Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1664629 SARASWATI MARK	AM Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1687581 SARASWATI DHUR	WE Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1638330 TRIVENI MERAVI	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1519418 LALIMA DHRUW	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1641597 KIRAN NETAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1642500 PRIYANKA PORTE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1303	1303	4303
1633196 SATRUPA MARAVI	Female	B. Sc./Botany/I	Fresh	10	570	5700	0	1303	1303	7003
1615936 KAUSHAL MERAVI	Female	B. Sc./Botany/I	Fresh	10	300	3000	0	1303	1303	4303
1616941 MAMATA DHURWEY	f Female	B. Sc./Botany/I	Fresh	10	300	3000	0	1303	1303	4303
1616889 REKHA MARKAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1645965 GAYATRI MARAVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1656324 KHEMIN MANDAVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1634823 RINA DHURWEY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1653085 PRIYANKA DHURWE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003
1626509 LAXMI DHURVE	Female	B. Sc. (Hons.)/Biology/I	Fresh	10	300	3000	0	1303	1303	
1633752 MONIKA MERAVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1634237 DEVKI MERAVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303

Declaration:

Place : Date :

(Signature & Seal & PRINCIPAL Institution)
Name (Sanital Mars) S. Girls College
Kawardhe Dist.-Kabirdhen (C.S.

Scholarship Scheme

Government of Chhattispark

State

Government of Chhattisgarh

Sanction Number

N/9/2411/2/7/96165

Sanction Diale

10/02/2020

Institute Name

Category

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

Post Matric ST Scholarship

Academic Year 2019-20							Applications	Type Fres	n	
Application ID Student Name	Gende	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1648171 OM MERAVI	Female	B Sc./Science/1	Fresh	1.0	570	5700	0	1303	1303	7003
1648403 LALITA PARSTE	Female	B. Sc./Science/I	Fresh	10	5.70	5700	0	1303	1303	7003
1536538 MANKUMARI SINDRAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1625015 KAVITA DHURVE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1679690 PRIYANKA DHRUVE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1644876 BHARTI KUMARI DHURVE	Female	B. Sc./Science/1	Fresh	10	300	3000	0	1303	1303	4303
1675678 PUSHPA CHEDAVI	Female	8. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
IS30017 VINITA MERAVI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1655132 REKHA PARTE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1635461 BINESHWARI MERAVI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1667616 VIDYA DHURVE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1648724 KAVITA DHURVE	Female	Sc./Science/1	Fresh	10	300	3000	0	1303	1303	4303
1649206 CHITREKHA DHURWEY	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1658182 SHASHIKALA DHURVE	Female	B. Sc./Science/1	Fresh	10	300	3000	0	1303	1303	4303
1676319 SANDHYA DHURWEY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1676947 ROSHNI KUSHRE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1672714 RAMESHWARI DHURVE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1303	1303	4003
1627824 SWETA DHURVE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detacted.

Place :

Date :

(Signature & Seal of Real of Party Kawardha, Diett.-Kabirdham (C.O.



Government of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Categon

Institute Name

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL KAWARDHA

2010 20

Government of Chhattisgarh

Sanction Number

N/9/2411/2/7/96165

Sanction Date

10/02/2020

Academic Year 2019-20										
Application ID Student Name	Gender	Course	Туре	No. of	Rate		Application Tuition Fee	o Type Free		Total Amount
1703240 CHITREKHA MERAVI	Female	B. Sc./Science/I	Fresh	Month	MIHH	Allowance	Huma			ALEXA DE
1679456 SOMA BANSOD	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1619817 PRIYANKA MARKAM	Female	B. Sc./Science/1	Fresh	9	300 300	2700	0		1303	4003 4003
1643793 SARASWATI DHURWE	Female	B. Sc./Science/I	Fresh	10	570	2700 5700	0		1303	7003
1644715 HEMLATA DHURWE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003
1633152 BHARTI MARAVI	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1303	1303	7003
1662349 SARITA KUMARI	Female	B. Sc./Science/1	Fresh	10	300	3000	0	1303	1303	4303
1662562 VIDYA KRISHE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1704982 NEETA DHURWEY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1674214 GAYATRI MARKAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1659792 MADHU DHRUV	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
1618582 SANTOSHI DHURWE	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
1621321 SEEMA MERAVI	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1273	1273	4273
1617153 BASMOTIN TEKAM	Female	B. Com./Commerce/1	Fresh	10	300	3000	0	1273	1273	4273
1644115 ALKA DHURWEY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1640583 JAGVANTEEN SHYAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1303	1303	4303
1634088 UMA DEVEE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973
1634232 SARITA DHURWE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

(Signature & Seal MINOSPAE Institution)

(awardha, Distr.-Kabirdham (C.S.

Government of Chhattisparh

Post Matric ST Scholarship Scholership Scheme

Category

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL Institute Name

KAWARDHA

Academic Year 2019-20



Government of Chhattisgarh

Sanction Number

N/9/2411/2/7/96165

Sanction Date

10/02/2020

Application ID	Student Name	Gender	Course	THE REPAREMENT				Applications Typ	e Fres		
BUTTON BUTTON	企工等以外的 有方向	THE PERSON	第二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十	Туре	No. of Month	Rate	Company of the last of the las	Tuition Fee Ott	er Fee	Total Fee	Total Amount
1644201	BIMLESHWARI MARKAM	Female	B. A./Arts/I	Fresh	1.0	570	Afforwance 5700	0	1273	1273	697)
1698844	SANTKALA DHURVE	Female	B. A./Arts/T	Fresh	10	300	3000	9	1273	1273	4273
1638247	SATVANTIN DHURWE	Female	B. A./Arts/I	Fresh	1.0	4				1273	6973
1644581	SANGEETA DHURVE	Female	B. Com./Commerce/1	Fresh	10	570	5700	9	1273		6973
1565892	ANJANI NETAM	Female	8. AJArts/I	Fresh		570	5700	0	1273	1273	3973
1653763	DILESHWARI CHEDAVI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	
1637734	PRIYA DHURVE	Female	B. A./Arts/I	Fresh	1.0	300	3000	0	1273	1273	4273
1632960	PRITT BALA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1639014	NANDANI DHURVE	Female	B. A./Arts/I		10	570	5700	0	1273	1273	6973
1638498	RUKHMANEE DHURWE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	RATNEE MERAVI	Female		Fresh	10	570	5700	0	1273	1273	6973
			B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
	NANDANI NETAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1617237	KIRAN OHHEDAVI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1656471	LALETARI DHURVE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1653970	PARVATI PANDRAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973
1653739	SUKWARIN DHURWE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1679506	SATRUPA MARKAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273
1663292	URWASHI MERAVI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273

Declaration :

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place Date

(Signature & Spring DiPAL the Institution) Name (Cap V. Mes rains Gollege awardha, Distr.-Kabirdhem (C. ..

Institute Name

Government of Chhattisgarh

Scholarship Scheme

Post Matric ST Scholarship

Category

G RAJMATA VIJYARAJE SINDHIYA GIRLS COLL

KAWARDHA

State

Government of Chhattisgarh

Sanction Number

N/9/2411/2/7/96165

Sanction Date 10/02/2020

Academic Year

	ation ID Student Name Gender Course Type 1672877 SEETA MARKAM Female B. A./Arts/I Fresh						Applications Type Fresh						
pplication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee		Total Fee	Total Amount			
1672877 SEETA MARKAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273			
1633095 MADHU PANDRAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273			
1669774 PUSHPA SIDAR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273			
1637902 DEEPIKA DHURWE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973			
1653101 YAMUNA DHURVE	Female	B. A./Arts/I	Fresh	8	300	2400	0	1273	1273	3673			
1671621 REVTI MERAVI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973			
1671973 VIDYA MARKAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273			
1642588 REETU DHURWEY	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973			
1647995 KUNTI KORRAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273			
1654249 USHA DHURVE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	4273			
1637469 REKHA DHURWE	Female	B. A./Arts/I	Fresh	9	570	5130	0	1273	1273	6403			
1647879 NEETU NETAM	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973			
1653710 SHILNIDHI DHURVE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1273	1273	6973			
1657503 SEEMA DHURWEY	Female	B. A./Arts/I	Fresh	9	300	2700	0	1273	1273	3973			
1715928 KAMLESHWARI DHURWE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427			
1655632 PRIYANKA DHURWEY	Female	B. A./Arts/I	Fresh	10	300	3000	0	1273	1273	427			
					Total:	312030	0	112011	112011	42404			

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date : (Signature & fithe Institution)

dove Havin Stegins Goffese Kawardha, Distr.-Kebirdhem (C.